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PART -11: SCHOLASTIC APTITUDE TEST
(For Student of Class X)
Time : 120 Minutes Max. Marks : 100
INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open

the Question Booklet.

1. This booklet contains question on Scholastic
aptitude.

2. There are 100 questions in this test. All are
compulsory.
The Question Numbers 101 - 120 belong to
Mathematics, 121 - 160 pertain to Science and
161 - 200 are Social Science subjects,

3. Choose the correct answer from the options given
for each question and darken the corresponding

circle with black ball point pen in the same OMR
Answer Sheet provided for Part-1.

4. Since the time allotted for this Question Paper is
very limited, you should make the best use of it by
notspending too much time on any one question.

5. Ifyoudonotknow the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the left out questions,
which in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

7. Every correctanswer will be awarded one Mark.

8. Handover only the OMR Answer Sheet to the
Invigilator after the completion of the test.
Question Booklets may be retained by the
candidate.

9. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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aflerr eramaer 101 - 120 sefignd, 121 - 160
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snipHeNal.
3. gpaleurm elemeliesib QarBasiu’ Hdrer wrmhmn
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MATHEMATICS / senflgb

101. In a party of 100 people, 60 had Vanilla
ice-cream and 40 had chocolate ice-cream.
10 people did not have any ice-cream.

How many had only chocolate
ice-cream ?

(1) 10 (2 o0

(3) 20 4) 30

102. If x2+y2+422=29 and xy +yz+zx=26,
then the value of x+y+zis :

1 9 (2) 81

@) =9 @) =3

103.

In the given figure, AB is parallel to CD.

The angle y is :
(1) 68° () 34°
(3) 112° 4) 56°

101. @@ empded 100 Guir sebhs
Qare_ani. syfle 60 CGuir @ euamr-
eflor uefldsmp wHmb 40 CGui
sr&Gal uaflsamip aTHSss Csmer-
Lenr. ukiGspmeutsafie 10 Cuir erhs
R0 ualsmud THsHECsTE
aefleroma erafler, arHsemenr Gui
sr&Cal. ualldsmp v Bb THS5S

Qs rerL_emi?
1 10 @ o
(3) 20 @) 30

102, x> +y?+22=29 wHmib xy+yz +2x=26
erafled, x+y+z -en wdly -

M 9 @) 8i.
3) =9 4) =3
103. A B
28°
E
w
C D

Qar@asiiu_Barer uLSHé AB
aranugl CD -6@ Qenenmineng,) ereled,
Gamenrid v -6 a6y :

(1) 68° 2 34°

@) 112° (4) 56°
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104. From the given figure, the angle x is :

(where O is the centre of the circle)

(1) 48° @) 132°

(3) 9° (@) 264°

s, SN _fan12_ sinid

* C0s55° cot78 cos72°
M 1 @ 0
@ 3 4) -1

106. Mean of 10 observations is 58 and 5 is
subtracted from each observation, then the

mean of new observations is :

1) 53 @) 514

@) 63 @) 151

104.

105.

106.

Epserapd UL SHo Caramd x -an
2aTa] :

(@ O ereuig) cul L SHen enowid)

NL

(1) 48° (2) 1320

(3) 96° (4) 264°

sin 35°  tan 12° sin 18° -
C0s55° cot78° cos72°
1y 1 (2 0
(3 3 4 -1

10 greysefian gyraf 58. @aiCaimm
sreyLgb 5 -0& sfssTd AL sEib
udlw sreysefian syrsf :

(1 53 @) 514

(3) 63 @) 151
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107. Which of the following is a true 107. SpéararuaTaubmieT THS Snbhm

statement ? o emepLowineng ?
(1)  Any real number is either rational or (1) erpgQeunas GlwuiGlweamr g b
irrational. Afgwpn sowag dseppr
CTERTERTTE G)(HEHGLD.
(2)  0is not real number. (2) 0 erenp ereir GowQuiasr e
(3)  Any real number is either prime or () eoar QuUAUeTSEEED LSsT
composite. DOV LIG CTETHETTS B{HIO-
Wb,
(4)  J/9 is an irrational number. (@) 9 eerugl em eNSlsupmm erer.

108. The area of a rectangle is 632+ 5x—6. If 108. @  Geaieusgdlar urlueTey

its length is 3x—2, then its breadth is : 6x2+5r—6, igar Bemd 3x—2 erafle,
BIFHEN SGVLD :

(1) 2x+3 @) 2x+1 (1) 2x+3 @ 2c+1

@) x+3 @) 3x+2 @G) x+3 @ 3x+2

109 If£+l=—1 ;, y # 0), then the val 109 Z4¥o # 0) erafler, ¥>—y?
2 y  x , (x, y # 0), then the value 3 x , (o y 5 y
of ¥*— 1 is : -@er Ay
M 1 2 -1 1 1 2 -1
1 1
3 o ® 3 3 0 4) 2
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110. In the given figure, the line 1 is parallel to
the lines m and n. Then the value of x is :

1 90° @) 30°

@) 45° () 60°

111. If the total surface area of a cube is 96 cm?,
then its volume is :

(1) 64 cm® (2) 512 cem?
(3) 8em? (4) 27 cm®

112. The probability of choosing a vowel in the
word ‘EDUCATION' is :

@)

o|w
O | W

1)

ol

)

o|u

@)

110. Qsr@ssuulGerer uL e Car@
I, m Hmb n HHumes @aerrwir-
aneney erafled, x -em WL :

2 '\@ .
— —>1
&
- \ n
a 90° @ 30°
(3) 45° ) 60°

11. ¢® sa sgrpfen Qurss Uruy
96 Q&8? erafle), sigen QsmeTaTaTay :

(1) 64 Qa3 () 512 Q&f?

(3) 8 Q&b 4) 27 Q&b

112. ‘EDUCATION erénp aurmigenguiled G
Vowel Csip@s®uugpsrer Hap
g&ay -

) 2

Ol w
O | =

o|u
o3

@) )




113.

114.

115.

116.

The L.C.M. of 6x%2 and 8x%y! is :

(1) 24xty? (2)  48x%y°

(3) 24xby° (4)  4Bx%y®

Two parallel lines touch the circle at the
points A and B respectively. If area of the
circle is 257 cm?, then AB is equal to :

(1) 10 cm () 8cm

(3) 5cm @) 25cm

A girl of height 100 cm is walking away
from the base of a lamp post at a speed of
1.9 m/sec. If the lamp is 5 m above the
ground, the length of the shadow after
4sec.is:

(1) 160 cm (2) 180 cm

(3) 200 cm (4) 190 em

If ‘a” and ‘b’ are any two positive integers
and aPxb*=72, then the values of a and
b are :

1 23 @ 3,2

() 23o0r3,2 ) 3,3

113.

114.

(1) 10 Qaib @)

115.

116.

[CODE[ X [ 11 | 20

6x%y> whmd 8x'y! < dweipden
Badlmy Qungl L ki, :

(1) 24xdy? (2)  48x%y°

(3) 24x6y° (4) 48x%y°

Qo CprCasr®sdr @m Lo
weopGu A whmib B erany yerafl-
safld) QgrHflerper. el LgHer
urtiuere] 257 Qa2 erafléd, AB = ?

8 Q&8

(3) 5 Q&b (4) 25 Q&8

100 Q& e wyapeter @m GQuear,
1.9 B/eflermry Caussfa elaréEs
sbusdler oiguiambg HLESADTT.
eilené@ seorulelmpbg 58 e wipsdd
pareng erafle), 4 eflenmgsdr sifiss
Bipedlan Berb

(1) 160 Q&S (2) 180 G&8

(3) 200 Q&S 4) 190 Q&d

‘a’ Hmib ‘b’ eremueney aGa@ib @m
lena (p(p eramaeT HMID aP x b2 =72
erafled, a wHmIb b -ar wHlLsEr :

1) 2,3 @ 32

() 23900532 @) 3,3
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117. If PS is the bisector of angle P and

118.

119.

120.

QS=6 cm, SR=5 cm; PQ=12 cm, then
PRis:

P
Q S R

(1) 12cm (2) 10cm
(3) 8cm (4) 30cm

The distance between two points (4, 3) and
(=2, 1)is:

(1 210 @ 4
@ 242 @ sv2
The simplified value of

cosf sech 4 sinB cosech is :
1y 2 2 3

@ o0 4 1

If the base circumference of a right circular
cone and its height are 220 cm and 21 cm
respectively, then the volume of the cone
is:

(1) 24,650 cm? (2) 21,750 cm?

(3) 26,950 cm? (4) 25,400 cm?®

117. Garewrid P -ullen @mesw@ailg PS.

. (3) 8GQasdb (4)

118.

119.

120.

Cogib, QS=6 G&S, SR=5 Qs5,
wHmib PQ=12 Q&8 erafle, PR =

P

Q S R

10 Q&8
30 Q&8

(1) 12 Q&8 2

(4, 3) wppw (-2, 1) aap Qn

yereflaené@ Qe vl L Qsrenaeay :
1) 2410 2 4
@ 242 @ 542

cosf sech +sinf cosecd -@lem &(m&diw
iy :

a 2 @ 3

@ 0 % 1

Sy LILES spperay 220 Q&S 2 @l w
@ Chiraul L sabiGer 2 wirb 21 Qe
arafled, snibGlen sam ey :

(1) 24,650 Q&8  (2) 21,750 Q&8°

(3) 26,950 Q&5? (4) 25400 Q83




122,

121, a=

1)

2

©)

)

A girl of mass 40 kg stands on her feet of
surface area 80 cm? (g=10 m/s?). The
pressure exerted by her feet is :

(1)

()

(3)

#)

Ry —Ry

Ry(T = Tp)
T, T, - Temperature, then the unit of o is :

a/°C

a°C

/°C

°C/0

5x10% Pa

5x10* Pa

2 Pa

where Ry, R;; - Resistance, 121. «=

[CODE[ X | 11 [20]

SCIENCE / 3ifjleflwiev

Re=Ri -
TR m@& Ry, Ry Slewr-
Ro@-Tp) %G Rr Ko

gL, T, T - deuliuflena erafled, a
-G AV :

1 Q/°C

@) c

@) /°C

@) °c/0

. 40 88 Hepyeder @@ Guer

80 @aS? LptiLeTeligieTer g(H Sergdlen
Bz @ srasefigyn HlemQerear-
gm&Eprr.  (g=10 S/elenmig?).
sjeuaflen urgsHellmpbg GQeuefliu@d
2i(Pssdlen 2lera :

(1) 5x10% Pa
(2) 5x10* Pa
(3) 05 Pa

(4) 2Pa
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123.

124.

If the EMF of a cell is 1.5V, then the energy
provided by the cell to drive 0,5 C of charge
around the circuit :

1 1]

@ 075]
@) 05]

)

North

5N

3N

West «<——
4N

7N

T
South

In which direction does the net force act ?

(1) North

(2) South
(3) East

(4) West

10

123.

124.

em Weasasdear Blaalusg elams
1.5 V erafléd, 0.5 C el gens
2ps Heaapop sHH S@UUS
GaareuliuBid OO :

®m 1]
(2) 075]
(@) 05]
‘(4 0257
ULEG
ISN
N -
: 8lipé
Cop@e—i T
4N

[

Qsp®

QsrE uwer e aHs Hasulla
QeweuEw ?

(1) aLés
2 CEp®
(3) Hpss

@ Gups




125.

126.

Pick out the correct statements regarding
the properties of Magnetic Lines of force.

(@)

Magnetic Lines of force never
intersect.

(b) They will be maximum at the
equator than at the poles.

(c) Magnetic Lines of force start from
South pole and end at the North
pole.

(d) Magnetic Lines of force are closed
continuous curves extending to the
body of the magnet.

(1) (@), (b) and (c) only

() (a), (b) and (d) only

(3) (a) and (d) only

(4)  (b)and (c) only

Pick out the right answer to correct the

given statement.

The distance travelled by sound in one
second is called time period of the sound.

Loudness Pitch

)]
®)

@)

Velocity (4) Frequency

11

125.

126.

[CODE[ X | 11 [ 20 |

arhg enss GCaurhHaafler LT sar
@Nss eflurer mpmsmers Caip-
Qg HEsaib.

(a) &g lenss Cardsdar @
Curgib geamsbarsng Cleul g s
Carerarmzg).

(b) Qe &THSSS 6N FiHEUBIGENET

e pRuuGsHle <fswrs
Bm&@h.

s1hs dlass Cardser &b-
sadlen Cgangimeusder QeT_rmid
QUL GI(HeusSled (pigaiant .

(€)

(d) srps  elevss  Can(ser

srhgsHlen 2 L ypid es(pHedldF
Qeawgib Qgrii awamarCar@h-
SATTGL0.

(1)
(2)
(3)
(4)

(@), (b) LHID (¢) LB
(@), (b) wpmid (d) 1G>
() DD (d) 10" Bid
(b) b (0) oL Gid

Spsanar smphleen #fl Qewiw, &fl-
wren curigengenwl CHmbosH& SeyLb.

@@ daimg Crradad @ o
SLEGD Qgranwe| 2emaeyd ST
eremiiu (b,

()
3)

gl e iy (2 &smE

HensGausd (4) eaberd
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127.

128.

A person wears glasses of power —2.0 D.

The defect of the eve and the far point of
the person without the glasses will be :

(1) Near sightedness, 50 cm

(2) Far sightedness, 50 cm

(3) Near sightedness, 250 cm

(4) Astigmatism, 50 cm

Pick the odd one out.

M

Water recovery system

2

Oxygen generation system

(3) Eye tracking technology

)

Sound Navigation and Range
(SONAR)

12

127.

128.

gmeuar —2.0 D Sper Qamer
SRRy DT BSICTETTIT. Bie(HEE
THULGmEGD UTTeneud @Gepunh
wHPh saTETTy  HeRfluTod
@Qmpsre eufler Galienols Larafl :

Sl L Lurreneu, 50 QaLf.

(1)

2) smriurieey, 50 Qas.

L Ourfeney, 250 Q&S

®3)

O

urreneus fgmad Cariur@.
50 Q&

Qurmpsrs gamns CaistsHs
&6yLD.

(1) B By ey

(2) SHHDET 2 HEINEGLD el

(3) saveens Qs AsTfd

HILUD

(4)

Sound Navigation and Range
(SONAR)




{130.

f129. The monthly bill (30 days), if the following

appliances are used as indicated below at
the rate of ¥ 5 per unit :

(@

(b)

M

(2)

®3)

4)

A DC generator works on the principle of

(1)

(2

3)

(4)

A heater of 1000 Watt for 2 hours
daily.

Ten 60 Watt bulbs for 5 hours daily.

T 550
T 700
T 750

T 500

Lenz’s Law
Ohm’s Law

Faraday’s Law of Electromagnetic
Induction

Fleming's Rule

13
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129. wellligm@ T 5 eigw, G GarBast
uleg Cure Gereu@pd Frgenhser
vwetu@SsLLBEDG erafler Wwrss
SLLewrid. (30 priser)

(@)

(b)

M

@

®3)

#)

130.

DC QgenGriLi

fearap 2 wellGrrd Lwen-
UBSSULBD 1000 eurl @&GLDl.

Herapd 5 wenflCrrd Lwed-
u@BssuuBn ugbsm 60 euml
LIGOL|&ETT.

T 550
T 700
T 750

T 500

31g.L1

e ufé QuniGHng.

@)

@)

@)

)

Qared adl

@b ol

oo GLuller W6 &MiHs SiewrLe
eflgl

u9Gembi -an clBsar
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131. Match the following :

()

(b)

©.

(@

(1)
()
3)
4)

Highest (i) Convex
refraction Mirror
Lowest (i) Concave
refraction Mirror

Headlights (iii) Diamond
of a car

Side rear view (iv) Ice
mirror

(@)-(ii), (b)-(iv), (c)-(ii), (d)-(3)
(@)-(ii), (b)-(i), (c)-(iv), (d)-(ii)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(@)-(iv), (b)-(3), (c)-(ii), (d)-(ii)

132. The expression for the magnification of a
spherical mirror in terms of focal length f
and distance of the object from mirror (u)

is:

M

(2)

3)

4

131. Qummags :

(@)

(b)

(©

(d)

25 (i)
gefleflawse

GPDHS (ii)
gaflefasd

smiflen (i)
(L WINE:S

ST ERTIT i
QenCGanrs@d  (iv)
SHETERTITIY

@ellwimig.

GYwrg

eneurLDd

uefl&si iy

(@)-(iii), (b)-(iv). (c)-(id), (d)-(i)
(@)-(iii), (b)-(0), (c)-(iv), (d)-(ii)
(a)-(ii), (b)~(iii), (c)-(iv), (d)-(i)
(@)-(iv), (b)-(1), (c)-(ii), (c)-(iii)

132. @edw gmd (f) wHpd wgulSmbg
Qumr@meilar Qaren@ey (u) SigU
v e Garers puuiear e @l

Qumpsssdnarear Careneu :
M ——

f
(2 u+f

=f

@ u+f

f
@) u—f

14




133.

134.

When a lactometer is used in a given
sample of milk A, it floats in the milk such
that half of the length of its stem is
immersed in the milk. When it is used in
another sample of milk B, the length of the
stem immersed in the milk is one fourth of
the total length. Then which of the
following is/are true ?

(a) Water content in A is more than that
of B.

(b) Density of the sample A is less than
the density of the sample B.

(1) (a) is true, but (b) is false
(2) (a) and (b) are false
(3) (a) and (b) are true

(4) (a) is false, but (b) is true

Which of the following does not release
H%ion when added in water ?

(1) HC

(2) HCOOH

(3) CH,;OH

(4) CH,COOH

[CODE[ X [ 1I 20|

133. @@ urewnafienw ure wrdHfl A-uld

vweruBSgib Gurg urewrefl Bigear
gangean Bergdler Lrd sara) LTl
eppdlméguwry Bssdng. urd
wrdfl B-wWeé g LwearLBSH D
Curg umelléd e Lirerafiudar
sargen Berworerg. Sigen W
fpersHer prendledr @m UTEL < ELD.
Epasam_aupdle ergl/ereneu &fl ?

(a) wrdfl A -9 Bfler ey B -6
Slereney el BiFla0b.

(b) v wrglfl A -1 LT5H wrdfl B -en
ISl el Gonay.

(1) (a) &fl, gyemed (b) seum
(2 (a) Ly (b) seup

@) (a) wppd (b) &

4) (a) seum, =penmed (b) &l

. Wereumeuareupiler samantany sa&ELDL

Gurg siwefleow Geuefl- WLrg
Sybleid erg) ?

(1) Ha
(2) HCOOH
(3) CH,OH

(4) CH;COOH
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135. Find the odd one out.

M
(2
3)

(O]

136.

mesons
positrons
neutrinos

protons

An element ‘X’ has 8 electrons in the

M shell when it gains one electron. Which
statements given below are not correct
about the element ‘X’ ?

(@)

(b)
(©

()

1)
2
(3
)

It belongs to 3™ period in the
modern periodic table

It has a valency of 7

It belongs to 18™ group in the

modern periodic table

Its valency is 1

() and (b)
(b) and (c)
(b) and (d)

(a) and (d)

135. QurEpsTEDS CoHTHOSHESMLD.

136.

)
(2
3
#

Qsrensar
UL yrengser
By AGarméser

UGy manser

‘X' erenp Saflob, G Ta&LTTene
Quob Curg M TGl gen
wduy 8 eafle, §Cyp Gsr@ssu
ul L eeusafies saflob ‘X -l upHlu
SEUDTET FaDHMIGET WiTenaeu ?

()

(b)

(©

(CY

1)
@
®3)

@

@z sealn eafles L-
amarda 3-eug CgrLers
ETiHS S| i

ipen @enertSmen 7

@& sailn afiens i L cuemenr-
e 18-augy QgrEdews srip
58l

2ipan @enemlyen 1

(a) wHoD (b)
(b) LHDID (c)
(b) wHmd (d)

(a) opmid (d)




137. Identify the double displacement
reactions.
(a) Pb(NO,),+2KI — Pbl,+2KNO,

138.

(b) HCI+NaOH — NaCl+H,0

(€) CuO+2HCl - CuCl,+H,0

(d) Zn+H,S0, - ZnSO, +H,

(a) and (b)
(b) and (c)
(a), (b) and (d)

(a), (b) and (c)

Assertion (A) : The position of hydrogen
in the modern periodic table is still under
debate.

Reason (R) : In the periodic table
hydrogen is placed at the bottom of the
alkali metals while hydrogen is a gas.
Both (A) and (R) are correct.

Both (A) and (R) are incorrect.

(A) is correct but (R) does not explain
(A).

(A) is correct and (R) explains (A).

17
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137. @rient @ UQuwisd) eflemensamans

138.

saLfs.

(@) Pb(NO,),+2KI — Pbl,+2KNO,
(b) HCl+NaOH — NaCl+H,0

(€) CuO+2HCI - CuCl,+H,0

(d) Zn+H,S80, — ZnSO, +H,

(1) _(a) wpmid (b)

(2)  (b) wHoD (c)

(3) (@) (b) wHm (d)

@ (@ (b) wHmD (c)

sahm (A) : saflo auflens oL -
amamie maplrgeafiear Haal
ur® Qergh siEmasEiug).

sryewrd (R) : gaflo auflens oL -
auamaruie enaplrmen eurujeurs
e arerGurSlgib sy o CarsnsErss
& eveussiiul [Herers.

(1) (A) wHmbd (R) &,
(2)  (A) poid (R) eup.
(3) (A) &fl, spermed (R), (A) -evwi

aSlerdsalleene,

(4) (A)&fl HMID (R), (A) -evw eflers

CLIVETE



[CODE[ X [ 1 [ 20 |

139. The Rule of Eight was proposed by : 139. eramo efiflenw parGmfbibseut :
(1) Kossel and Lewis (1) Garse wHMID Quilen
(2) Henry Moseley (2) Qamerh Comevel
(3) Dimitri Mendeleev (3) gCA Goer eSe
(4) John Newland (@) mren Huenbs
140. (a) CH,~-CH,-OH 140. (a) CH,—CH,-OH
() CH,-O-CH, (b) CH;—O-CH,
If compounds (a) and (b) have same sl Gerwmasdr (a) wHmb (b)
molecular formula but different kind of @rarghen  @Gr  wpessmp
arrangements, then compound (b) is an : aumitiur@w, Caumpul L sl el
Lib 2 greng) eradfiey, Gaimow (b) eremug)
R :
(1) alcohol (2) ether 1) posaoréd (2) FSF
(3) aldehyde (4) acid (3) ogman (4) Sibleb
141. Identify the incorrect pair. 141. QurmpsTs Qaarmwusd samLhs.
(1) Group 11 - Halogen family (1) Qsr@d 11 - Capegen GHLDUD
(2) Group 2 - Alkaline earth metals 2) Qsr@d 2- srywar 2 Carshiser
(3) Group 13 - Boron family (3) Qsr@d 13 - Gunyrer GHDULD
(4) Group 16 - Chalcogen family (4) Qsr@d 16-srGsrgem GHLLID

18




142. If the difference in electronegativity
between two elements is 1.7, then the bond

is

(5]

(2)

(3)

143. The acid which makes iron passive is

(1)

(2)

(3)

(4)

144. The value of p©! of rain water is :

1)

(3)

60% covalent 40% ionic

50% covalent 50% ionic

40% covalent 60% ionic

70% covalent 30% ionic

Conc. HCI

Conc. H,50,

Conc. HNO;,

Conc. HF

7 @ 6

8 @) 95

[CODE| X | 1II | 20 |

. Qo 2mEsERSE Qe Gw o drer

Graslrren seuigerento s uwiraind
1.7 erafled, <jlillenentiiyy
ClamerL_g).

(1) 60% ssl19eartiiLgG Seamanio,
40% 2jweafls gerento

(2) 50% seLG9eanmiLg Seanenio,
50% jwellg seneno

(3) 40% sslGeeamriLg Seento,
60% sjwafls serano

(4) 70% ssLleentiLg Semenio,
30% weils semeno

. @bl Spaer @Quéss GFwwb

<leuid :

(1) i HC
(2) =i HySO,
(3) =it HNO;

(4) =L HF

. wenyp Hiflen pOH AL

vy 7 (2 6

@) 8 4) 95
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145.

146.

147.

The organic compound contains 4 carbon
atoms, the root word according to [IUPAC
is:

(1) Meth- (2) Eth-

(3) Prop- (4) But-

Which one of the following element is not
a Metalloid ?

(1) Arsenic
(2) Silicon
(3) Boron
(4) Copper

Hydroponics was demonstrated by a
German Botanist in 1980.

(1)  Julius Von Sachs
(2) Nehemiah Grew
(3) Robin Hill

(4) Robert Brown

20

145.

146.

147.

em &fws Garwd preng Sriuer
@ ssa QaTaTgHHSTL, DS
IUPAC Geuiré Glame :

(1) Meth- (2) Eth-

(3) Prop- (4) But-

YGeneumeuaneaupmer erg e Garsl
Gumell e ?

1) syisafls
(2) Hellsasmen
@) Gumgren
@) srour

ean GrrCurafisev mUubd 1980
Qe renggd Gl ier

* greur- eflweraryre Gewe ellaésd

Qauigsramissiuc L g
(1) mOdwev eurenansen
(2) Qpswwwr &
(3) gmYerr ailed

@) @rruirl GQyeren




148.

149.

150.

Assertion (A) : Rhizobium is a soil
bacterium that colonize the roots of
leguminous plants to form root nodules.

Reason (R) : They increase the intake of
Phosphorous.

M
)
@)

(A) is correct and (R) is incorrect.
(A) is incorrect and (R) is correct.

(A) is correct but (R) does not explain
(A).

(4) (A) is correct and (R) explains (A).

Which is not a component of stele ?
M
@
()
O]

Pith
Pericycle
Cambium

Vascular tissue

Choose the incorrect statement.

(1)

Epithelium helps in absorption of
nutrients.

)

Epithelium allows the normal
movement.

(3)

Epithelium helps in elimination of
waste products.

(4) Epithelium secrets chemical

substances.

21

148.

149.

150.

[CODE[ X [ 11 [ 20 |

spDm (A) : @rGsmiwd eraug
warraump urseflub. e Casm-
Berav sragusalla Gearsefled
Calfrpa RE&Eamer 2 (HeuTsEGasnHE
&LUr eaurpsomsaow  BLES-
Semmen.

snrewid (R) @ @pg urseflursser
Sifsaeiler urdvurelener 2 HlEhs-
Semmen.

1
@)
©)

(A) ol LHYD (R) goup-
(A) seugy wOHMID (R) &fl.

(A) 5f, gerred (R), (A) -eow
Searsseildveme.

4) (A)&f wHmid (R), (A) -eowl eflard

GEAVES

eTg eviedlen 2 L sam S ?
1 9%

(2) Gufienasdler

3)
(4)

Cs b9 wid

QUTEV@GETT SHenD

geupnen smpend CaiHosHEsaD.
(1) e98Sud spgsamer 2 MHliehs

vwaruHE na.

(2) e Q&N FTHTTERT DI -

seer eHSED.

(@) erd9faflwd sflaisamer SHD

Lweru & mg.
@) erd98dlwp Caud QummLseaner

H7&EDG).
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151. Find out the true and false statements.

(@)

(b)

()

(d)

1)
)
®)
@

152.

A recessive factor is altered by the
presence of a dominant factor.

Dominant factor is expressed in both
F, and F, generations.

Recessive factor is expressed only in
F, generation of a monohybrid cross.

Gregor Mendal conducted his
experiments on bean plant.

(a) false, (b) false, (¢) true, (d) false
(a) true, (b) false, (c) true, (d) true
(a) true, (b) true, () false, (d) false
(a) true, (b) false, (c) false, (d) false

Which is/are wrong about the properties

of meristematic tissue ?

()
(b)

(©

(d)

(1
2
3
&)

Cells are small.

Vacuoles are absent.

Intercellular spaces are present.

Cell grow and divide regularly.

(a) only
(b) and (d) only
(c) only
(d) and (c) only

22

151. sflwrer wHMID FeupTer SaHmisseer
sam_lwayb.

(a)

(b)

(©

(d)

@)
@)
@)
)

@hiE garenoullen &ryeRriors
@hmE gearenw  wrmur®
<LEpg).

puEG gaeww F, wpmw F,
seowapuiad sremiuRSng.
20mE samw gflar solbear
F, so@agepuid wl GG
srent) LUREDS).

aflar Qe seargenw
Suleflenan sauarsd Fraursdle
BLGElami.

(a) sougy, (b) aug), () &, (d) seupy
(a) &, (b) Seumy, (c) &, (d) &l

(@) &, (b) &, () seum, (d) eum

(@) &1fl, (b) geupy, (c) seum, (d) seum

152. é@H deeflan uamLsefldr geuprar
Safimi/ FaHmSeT eTene ?

(@)
(b)

(©)

)

(1)
2
@)
O]

Qs sierelley Aliuana.
@eum Ml Lk &er
Sevenav.

Smemr L (Heu-

QeasErsE QoLCu Qe -
Qeuafll o e,

Ceasear QAsrLipHg
HDID UGLUUL YLD,

GU BIT (LD

(a) LWL (Hd
(b) > (d) LG
(c) L _(Hb

(d) oMb (c) W (Hid




154.

1153. The cells once dead and that cannot be

replaced in lifetime :

0
2
@)
#)

Skin cell
Liver cell
Red blood cell

Eyelens

Match the following :

@)

(b)

©

(@)

1)

2

(3)
)

Carbohy- (i)
drate

made up of
amino acids

metabolic
function

Protein (i)

Fat (iii) physiological and

biological function

Vitamins (iv) provides chief

source of energy to
the body

(@)-(i), (b)-(iv), (c)-(iii), (d)-(i)
(@)-(iii), (b)-(ii), (c)-(3). (d)-(iv)
(@)-(iv), (b)-(i), (c)-(i), (d)-(ii)
(@)-(iv), (b)-(idi), (c)-(i), (d)-(ii)

[CODE[ X [ 1 [20]

153. @ pop @ppsre Sar@b
ErepwésUUL (PIRWTS BLD 2. L6
Q&

154.

23

1)
@)
()
4)

Cgired Qged
seedred QFe

@r5s Heuliy Gaasar

samell

QuTHSEIs :

(@)

(b)

(©

(d)

(1)

(2

)
)

smiGum
anapl Gri

Yy

QaEmapuiy

el L -
Wlenser

<28 Gasrr
2Ol euhi-
SETTEd

2 (HeuM-
aenel

Qaevedlem
alerTleng
LOTHMLD

o Ul
Geugluliwie
Qeweur®

2L Q&S
<D
BI&snlg

wenaeu

(a)-(ii), (b)-(iv), (c)-(iii), (d)-(3)
(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
(@)-(v), (b)-(i), (c)-(ii), (d)-(iii)
(@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)



[CODE[ X [ 11 [20]

. 155. Choose the incorrect pair. 155. gaupren @earawg CsintsHsé
FaLD.
(1) Robert Koch - Father of (1) @urur_ - ursleflwed-
Bacteriology Cana wellen ghens
(2) Sir Ronald Rose -  Founder of (2) & Qrremmeor. - wGaflwr
Malaria e Grmu
serTL_hlBSeu T
(3) Stanley B - Invented (3) evrmemel . - meETGemTTé
Broiner Microscope Liem i eori Slanw auigai-
LD SEUT
(4) William - Father of 4) efeadwid - @ulienLt &
Beaumont Gastric : (L TERTY o 2 | HPswaedu-
Physiology abletn HHENS
156. Find the odd one out. 156. Qurmbsrsmsd CoTHEsHESD.
(1) eosinophils (1) @CwrAGeamSeasear
(2) monocytes (2) GurGarrensl_Hser
(3) neutrophils (3) Bl Crmafeavser
(4) myofibrils @)  ewGur euliflessr
157. Pick the odd one out. 157. Qurmpsrsmss CaihbsHéseaD.
(1) cuticle 1) Hylgder
(2) diverticula (2) enLeulgGr
(3) botryoidal tissue (3) Curiflumired S
(4) dermis 4) Gamed
158. promotes the development 158. eramLig 2 L6 Slassafien
and enlargement of all tissues of the body. aerréH  wHmd  Qumpssseas
oard@allsEmg).
(1) GH (2) TSH (1) GH (2) TSH
(3 GTH (4) ACTH (3) GTH (4) ACTH

24




59.

160.

Match the following :

(a) Analogous (i) Caudal
organs vertebra
(b) Vestigial (ii) Bat wing
organs
(c) Atavism (i) Frontlegofa
cat
(d) Homologous (iv) Thick hair on
organs the human
body

(1) (@), )-(i), (c)-(iii), (d)-(iv)
() (a)(ii), (b)-(), (e)-(iv), (d)-(iii)
(3)  (@)-(iv), (b)-(ii), (©)-(i), (d)-(iii)
(#)  (@)-(i), (b)), ()-(ii), (d)-()

Assertion (A) : RBC plays an important

role in the transport of respiratory gases.

Reason (R) : RBC do not have cell
organelles and nucleus.

(1) Both (A) and (R) are true and (R) is
correct explanation of (A).

(2) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

159.

160.

[CODE[ X [ 11 ] 20 ]

Qumrpssis :
(a) Qowd @ss () ured
2 ML &ET @pe-
QeTgyibyy
(b) erés (i) Geuer-
2 ML &er cumedletr
QnEms
(c) qpenGenmir (iti) Lyeneorullen
uery BLA (peIeniThi-
&6
(d) =ewiiy (iv) weafls oLe
e85 ICET
2 L ser SIS~
Hwiren
G

1) (@)-), b)), (c)-(iii), (d)-(iv)
() (@), (b)), ()-Gv), (d)-(ii)
@) (@)iv), (b)-(i), (c)-(i), (d)-(ii)
@) (a)(i), (b)-(iv), (c)-(iii), (d)-()

sapm (A) : @rés Heuliy Signsbaer

saurdluusn® Cseeaiwrer apsss

srphlever sL_sgeudle) wpsslu LkEG
audlsflng.

sryewrd (R) @rés SHeauly

Signsseiiey Csd 2 mliysar LOHMID

DEEET GO

(1) (A) whpmd (R) GranGo &fl
whmd (R) ererug (A)-&@
sflwren eSleT&sOMELD.

@ (A) wppd (R) Gran@d &f,
e (R) erenug (A)-55
sflwurar eflaTésLohe.

(3) (A) &fl, gyenmad (R) seum.

@) (A) wopd (R) seup.
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161.

162.

163.

164.

SOCIAL SCIENCE / &eps inleflwied

Who among the following was the first
Peshwa of Shahu ?

(1) Balaji Vishwanath
(2) Baji Rao

(3) Balaji Baji Rao
(4)° Madhava Rao

The great military genius of the Mangols :

@)
@)
®3)
@)

Napoleon Bonaparte
Jan Zizka
Alexander

Genghis Khan

Who was awarded the title of Nawab after
the defeat of Sirajuddaulah ?

(1) Mir Zafar

(2) Tipu Sultan

(3) Bahadur Shah Zafar
(4) Hyder Ali

Before French Revolution the political body
of France was called as 5

Duma

Reich Stag
Lok Sabha
Estates General

1)
@
@)
)
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161.

162.

163.

164.

Spssraruciisaiie) smE abssden
wpsed Guegeur wirr ?

1
@
(©)
O

urergdl efleveusrs
urgll e
urerg urgl Freu

IDTSE JTEL

Qurseruisefiar Anps @rreme
s :

(1)
@)
@)
)

QpuGureliwer GurerLiTiL
gren Havsm
SiG@&enraRTL it

Qemdlevamer

fyrgoQgearar Csrhsyésiul L
Gememi peurs UL Semgls Qubpeur :
(1)
)
G)
()

Bir gy

S sesme
LISZ[TT @SIT ITo ol IIT
DamGit el

9QyErals Lyl Aé@ apeent Grmendld
paLpopdd Qmbs (Brmes-
OERTMLD) < TEFMLOLIL]

GTEND HD PSS L.

1) Gur

(2 Qrus evnrs

®3)
4)

Geoorrs sur

eraGLL 6 QAgeryed




165,

1he war petween pritam and France had

centred on the control of colonies in North
America :

(1)
2
@)

C)

166.

167.

The American war of Independence
Seven years war

The Crusades

Battle of Bunker Hill

Find the correct match.

(1)
(2)
@)
(4)

Corvee - Free Labour
Gabelle - Land tax
Taille - Salt tax

Tithe - Customs Duty

Choose the correct statement/statements.

(1)

(i)

(i)

(iv)

6
@)
®)
(4)

The Portuguese were the Pioneers of
naval expeditions.

New Plymouth was named after the
Quaker Penn.

Quakers have the reputation of
encouraging wars.

The English changed the name of
New Amsterdam to New York.

(i) and (ii) are correct
(iii) only correct
(iv) only correct

(1) and (iv) are correct

166.

167.

165, QUL DLIOMES (Gl WD &SN ETE
SLHUUBSSHID mwwnrsd Glamer ()

Graderbgseh

Y ymensd @b

@e Cu manL Gupp Cum

(1)
2
3)
)

M
)
()
)

2Guflés sspdru Gumt
aprerm® L Gum
Agienauls Cum

kst @enmy Gumr

gflwnen Genanranw Cairay Cels.

sriredl - Qaeus a.mg;ug
stluaCGe -  Meeuf
QLW - 2y eufl

;3 - shisefl

sflwnesr sapm/spnésamarg Capi-

Qs HéEsa|b.

()

(i)

(ii)

(v)

(00
)
®3)
4)

s_amie|’ Luarhgamer Gom-
Qareraudler Gurisgssswi
aperGemmiguimaui.

GCaussrred LHw Yenaroeyd
Quuwl_bul L g.
BCaussiaer CUTMHEE < WE
3186 @HHSenEE BHEUWI
QuibHmerir.

2mfCGawr By, < ha -
Lreno Hluwirs erer Guwi
wrpob CFuigenr.

(i) Lopmd (i) &

(iii) B &l

(iv) LB &

(i) wHmb (iv) &
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168. Arrange the following events in the 168. Semeumid Flapheysaar STedlroliug

chronological order : auflesiiuBéseyb.

(a)  Vietnam Nationalist Party @ eQwi pribd Coflus s 4
(b)  Fascist Party (b) undles 548

(c)  The Union of South Africa (€ OCgenenmifss gemflun
(d)  French Communist Party ) 9QrErs soyefa &8
1) (@), ®), (©, () (1) (a), (b), (0), (@)

) (a), @), (), (b) @ (@ (@), (), (b

() (© (). @), (@) | 3 (© 0) @, @

4 () (b). (a), (d) 4 (©), (b), (), (@

169. Who called Slater as the “Father of 169. AGa L, 2Qwféss Aarfmyr
American Industrial Revolution” ? flar  sheng D Wy
SMWSELLL LT 9

(I)  George Washington (1) grig euraflii_ar
(2) Thomas Jefferson (@  smosv Qg Quiser
(3) Andrew Jackson () @ m mrssen
(4)  Abraham Lincoln (4) < Grapmb g

170. Emperor Menelik was the ruler of which 170. Gurrei Quefas Thg 2lkGNEs

African country ? BTLenL yarL i 72
(1)  Ethiopia (1) esHCUrIQur
(2) Cape colony (2) Csi sreed

(3) Kenya (3) Qaemur

(4) Uganda (4) 2 STeRTLiT

28



171.

172.

173.

Match the following :

{a) Hundred Days (i) 1832
of Reform

(b) Russian (i) 1898
Revolution

(c)  First Opium (i) 1911
War

(d) The Chinese (iv) 1917
Revolution

(1) (@-(iv), (b)-(iii), (c)-(i), (d)-(i)

(2)  (@)-(iv), (b)-(i), (c)-(ii), (d)-(ii)

(3)  @-(i), (b)-(iv), (c)-(i), (d)-(iii)

(4 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Which statement is ‘false’ with regard to
Volcanoes ?

(1) Volcanic materials enrich the soil
fertility.

(2) Hot volcanic region helps in
generating tidal energy.

(3) Volcanoes are the most attractive
tourist spots of the world.

(4) Volcanic eruption causes
earthquakes.

Which wind is referred as ‘roaring forties’
at 40°, at 50°
‘screaming sixties” at 60° latitudes ?

‘furious fifties’ and

(1) Trade winds
(2) Easterlies

(3) Westerlies
(4) Cyclones

29

171.

172.

173.

[CODE] X T 11 T20]

Qurpsss :

(@) mHIM BrLSer (i) 1832
ErHmps0

(b) peguwil yrls (i) 1898

(©) wse (iii) 1911
< Qe Guri

(d) ESemiypl & (iv) 1917

(1) (a)-(iv), (b)~(ii), (c)-(ii), (d)-(i)

(2)  (a)-(iv), (b)-(1), (c)-(i1), (d)-(iii)

(3).  (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(4)  (a)-(ii), (b)-(iii), (c)-(3), (d)-(iv)

aflvemasda upflu sauprer Fa )

gl ?

(1) eflweesdr waramian eieaTdams
QuESEHADE.

@Lrer erflbeaser o grer
UGHsdar S Yy nHneow
e pusd Qe 2 s68ns).
ailuamasda e odCGaolu Ws-
b sarsflayorar  fHApps
SOOI SEOBISHETT(GLD.

gflome Geagluyser Ho
pH&&EDE@ sTyeTLTSDen.

)

(3)

)

40°2ismgelld ‘sTelé@d Brpug-
&@T eremeyd, 50° oy smsefld ‘Fmb
@DLIGIFET eTamayb, 60° L shsafld
‘BHOD SMUFEET GTATEYD DS
SUUBLD STHMmSET erenel ?

(1) eSlwrumyé srppser
(2) Eerwps sTHmSET

(3) Cuwees sTHNEET
4) @oreefiser



CODE| X

II | 20

174.

175.

176.

is the National Geo-portal
developed and hosted by ISRO, it enables
visualisation of satellite imaginary and

maps.
(1) GPs (2) Agni
~ (3) Bhuvan (4) Kalpana
Pulicat lake lies in the district.
(1) Kanchipuram (2) Chennai
(3) Tiruvallur (4) Vellore
Match the following :
(a) Tehri Dam (i) Sutlej
(b)  Hirakud Dam  (ii) Bhagirathi
(©) Nagarjuna (iii) Mahanadi
Sagar Dam
(d) Indira Gandhi (iv) Krishna
Canal
(1) (@), ()-(iii), ()-(iv), (d)-(i)
@) (@)(iti), (B)-(iv), ()-(), (d)-(ii)
() @ri), (b)-(iv), (o)-i), (d)-(i)

@)

(@)-(iv), (b)-(ii), (c)-(ii), (d)~(i)
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174.

175.

176.

6T &7 L1 g

Geretaer  epawrs

UensUUL D whmb euenruLkisamer
ISRO

urflugne
ugeuWESLUL[H

Gelwtiu’ L yefl Qe eurad.

(1) GPS @ isef

(3) yeuar 4) seouenr

uCeaupsr® el wreul L g

S iewpgerers.

(1) sreréyro () Geeaenar

@) Smeetert (4) Ceugni

QurmEss :

(a) Qsdlf (i)‘ slagm
<2 e Gt

(b) adlyrE (i) undrs
| &N awT

© premigrear (i) wsTH
TSI jenesT

@ @b snpd (v) Awesenn
STEeU L

() @), (o)-(ii), (c)-(iv), (d)-(i)

@) @), (b)-(iv), (c)-(i), (d)-(ii)

(3 (@rid), (b)-(iv), (0)-(iii), (d)-(i)

)

(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

Qewpens
CQuplu@b

-QUTed
ugCGeuppib



177.

178.

179;

180.

is not a part of the world
network biosphere reserves of UNESCO.

Nilgiri
Agasthiyamalai

Great Nicobar

Kachch

The Indian Council of Agriculture
Research was set up in

(1) 1935 (2) 1954

(3) 1951 (4) 1953

Pick the odd one out.

(1) Assam (2) Meghalaya
(3) Tripura (4) Nagaland

__ is the most common but

powerful means of communication.

(1) Internet
Social Media
Print Media

Television

31
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177. wyQerevCamed e 2 uir&EGamert
urgaruy  QuiLssfear @
DRSNS BDOTSS
(1) podif

178.

179.

180.

@)
)

DEFSI wene
Qufiu F&Camumt

HL&

(4)

Qpfw Geuerrar rriifls spaid
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183.

181.

182.

The name Gaja (Cyclone) was named by

(1) Bangladesh (2) Sri Lanka

(3) Pakistan (4) Oman
Match the following :

(a) Mount Helens (i) Japan

(b) Mount Fuji (i) Tanzania

(c) Mount (i) Hawaii
Kilimanjaro Island
(d) Mauna Loa (iv) United States
of America

(1) (a)-(i), (0)-), (©)-(ii), (d)-(v)
@) (a)-{iii), (b)-(v), (©)-(D), (d)-(iF)
@) (@)-(iv), (b)) (©)-d), (d)-(iii)
@) (a)-v), (b)), (©)-(iid), (d)-(if)

A communication
appropriate authority stating the policy of
the Government is known as :

issued by an

(1) Office Memorandum
(2) Legislative Procedure
(3) Government Order

(4) Circular

181.

182.

183.
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184.

185.

186.

Which party always won elections in
Mexico since its independence in 1930 until
2000 ?

1)
2
3)
4

Revolutionary Party

Mexican Revolutionary Party
Institutional Revolutionary Party
Institutional Party

The Government of India Act came into
function in the year :

(1) 1930
(3) 1935

1932
1938

(2)
@)

Assertion (A) : The Constitution of a
country is a set of written rules that are
accepted by all people living together in a
country.

Reason (R) : Our Leaders gained
confidence to learn from other countries,
but on our own terms.

(1) Both (A) and (R) are true and (R) is
the right explanation of (A).

(2) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(3)  (A) is false but (R) is true.

(4) Both (A) and (R) are false.
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187. The State in which assembly election held
in 2020 :

(1) Odisha
(2) Maharashtra
(3) Karnataka

(4) Bihar

188. Which of the following sentences is not
true of Decentralisation Act of 1992 ?

(1) 33% Reservation for women.

(2) Regular election every 5 years.

(3) Election Commission of India to
conduct Panchayat Elections.

(4) Reservations for SC, ST and OBC.

189. Chanakya, in his book, Arthashastra,
supports a powerful king but believed in
as the basic unit of

administration.

(1) Nayaks (2) ‘Gram Sabha
(3) Samitis (4) Janapada
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190.

191.

192.

193.

Liberty, Equality and Fraternity were the
important slogans during the

(1) American Revolution
(2) French Revolution
(3) Russian Revolution

(4) Chinese Revolution

is an informal body of Senior
Ministers.

(1) Council of Ministers
(2) Cabinet Ministers
(3) Ministers of State
(4) Cabinet

The Legislative Council still in existence in

(1) Maharashtra
(2) Tamil Nadu
(3) Odisha

(4) Kerala

The Elected Representatives in turn elect
their representative is known as
election.

(1) Direct

(2) Indirect

(3) National Level
(4) State Level
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194.

195.

196.

Assertion (A) : Informal financial
institutions are easily approachable to the
customers with flexible procedures.

Reason (R) : Safety of the pledged items
and low rates of interest are the special
features of informal financial institutions.

(1) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(3)  (A) is true but (R) is false.
(4)  (A)is false but (R) is true.

The full form of HCR :

(1) Head Count Ratio

(2) Human Center Ratio
(3) Head Calculating Rate
(4) Head Continue Ratio

Development of a country is determined
by the World Bank by :

(1) Its per capita income
(2) Its health status
(3) Average literacy level
(4) All of the above
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197.

198.

Identify the basic services from this list of
occupations in the tertiary sector.

Banks, Mass Media, Legal Services,
Telephones, Real Estate, Transportation,
Gambling, Postal, Education.

(I)* Banks, Real Estate, Legal Services,

Telephones.

()

Banks, Transportation, Postal,
Education.

3)

Transportation, Gambling, Real
Estate, Legal Services.

Real Estate,
Telephones, Mass Media.

“4)

Transportation,

Look at the following statements about
globalisation. Choose the one that is
incorrect.

Globalisation has be enabled due to
development
Technology.

(1)

in  Information

Globalisation has increased trade
between countries.

Globalisation has made countries
more connected.

(4)

Globalisation has reduced foreign
investments.
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199. is an innovator of new ideas
and business processes.

(1) Entrepreneur
(2) Professionals
(3) Business people

(4). Organizer

200. Paper Money Spread to Europe through
the travels of

(1) Marcopolo
(2) Columbus
(3) Magellan

(4) Stanley

~-00o0-
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